6.61
425
403 013 TYP
i I ] f
|/
! {
L_Q o
6.85 ‘ |
SECTION A-A L /

FOR REFERENCE ONLY
MOUNTING FEET SHOWN AS INSTALLED

4.84

7.22 5.72
—s — 0375

| ‘ B<—| ‘ M (T )\
@ 7@7 q )
_ N ||
— J - I ——
0.13 — ] |t
TYP
8.61
10.47 11.78

6.25

(494 =7
el
=

\& >/
g gosts SECTION B-B =
5.75
— 1.00
I [IRY
4 N o ||
Q
534 5.09
NEMA 250: TYPE 1.3, 35, 3R, 4X, 12 .
2 SPECIAL REQUIREMENTS IEC 60529 N/A STANDARD P/IN: _ CE907HPL ALL DIMENSIONS ARE IN INCHES| TOLERANCES XX XXX
‘ 721 ‘ ASSEMBLY: COLOR: _ GLACIER GRAY (WPR3013) CUSTOMER DWG: UNLESS OTHERWISE SPECIFIED UNLESS SPECIFIED +0.03 £0.010
1. MOUNTING FEET SHOWN AS INSTALLED - FOR REFERENCE ONLY COLOR STANDARD: PANTONE 428 C N
“SOLD SEPARATELY — —
-CENTURION SERIES MOUNTING FOOT KIT (ATCEMTGFTKIT) MATERIAL: FIBERGLASS REINFORCED POLYESTER (FRP) f 1 ]_, ]ﬁ Robroy Enclosures
-INCLUDES (4) 5/16-18 x 1/2 FLAT HEAD SLOTTED SCREWS (RMSC5/16-18X1/2FL) v ] 500 Maple Street
2.(1) CENTURION SERIES SCREW PACK (WP2PKCLBP) SHALL BE PACKAGED LOOSELY INSIDE ENCLOSURE REVISION HISTORY [ [ [ L Belding, Michigan 48809
HARDWARE INCLUDED: L . y d
~(2) #10-24 x 1 PAN HEAD COMBINATION DRIVE SCREW (RMSC10-24X1COMBO) REV DESCRIPTION DATE |ENG . Phone: 616-794-0700
THIS DRAWING 1S THE SOLE AND EXCLUSIVE ~(4) #10-32 x 3/8 PAN HEAD SCREW (RMSC10/32X3/8ZN) - - - - Fax: 616-749-3378
PROPERTY OF ROBROY ENCLOSURES. “(4) #10 WASHER (RMWAS10ZN) — = _ —lwww.aTTABOX.COM
REPR’“O?]E@EB?I;;?&?E?J?@Q%GRESELB\EALLV ~(2) O-RING FOR COVER SCREW (RMAS568007) - _ - " [DRAWNBY[ DATE | CUSTOMER DWG
‘ORM Of
Ao A e . g 1 ora | ogeny CESO7HPL
PERMISSION OF ROBROY ENCLOSURES.
'S\l KIGHTS RESERVED. - - = - SCALE DESCRIPTION PART NUMBER
COPYRIGHT ©7017 ROBROY ENGLOSURE - - - ~ | DONOT SCALE STANDARD ENCLOSURE ATCE9Q07HPL

8 7 6 5 4 3 2 I 1




	Sheets and Views
	CE907HPL-Model


